[BFFERRR(H: KFEL]

FERIHE (1) HE®RME (F) k=

(+B8H7) FH169-1 =] 1169-1 ELE
(+HHr) H169-4 =] 1169-4 HMBELE
(+B8H7) 170 =] 1170 HBELE
(+HHr) F171 =] 1171 HMBELE
(+ BHT) H172 =] (1171) BEME
(+HHr) F173 =] (1169-4) BEME
(+ BHT) 174 =] (1171) BEME
(+HHr) H174-F =] 1174-1 HMBELER
(+ BHT) H175 =] 1175 HMBELE
(+HHr) F176 =] 1176 HMBELER
(+ BHT) H177 =] 1177 HMBELE
(+HHr) F178 =] 1178 HMBELER
(+ BHT) H179 =] 1179 HMBELE
(+HHr) H179-2 =] 1179-2 HMBELER
(+ BHT) F180 =] 1180 HMBELE
(+BH71) 182 =] (1180) BEhE
(+HHT) F365-2 = 365-2 MhELE
(+HHr) F442-3 = 442-3 HMBELR
(+B8H7) F443 rE 443 HMBELE
(+HHT) H444-1 & 444-1 hFELEE
(+HHT) H444-2 = 444-2 hELE
(+HHr) F444-3 = 444-3 HMBELR
(+HHT) FH445-1 g 4451 hELER
(+HHr) F445-2 g 445-2 HMBELR
(+HHT) FH446-1 g 446-1 hELER
(+HHr) F446-2 g 446-2 HMBELR
(+ EHT) 4471 5 (445-1) BEME
(+H8HT) H447-2 g 447-2 hBELEE
(+H8HT) 4481 5 4481 hELER
(+HHr) F448-2 g 448-2 hELEE
(+B8H7) F449 tE 449 hBELE
(+HHr) F450 = 450 HMBELER
(+8HT) F 451 e 451-1 hELER

5 451-2 NEFE

tE 451-3 SNEHTE
(+H8Hr) F452 8 4521 HMBELER

g 452-2 DEME

tE 452-3 DEH T

tE 452-4 SEHE

s 452-5 DEME
(+BH) F453 e 4531 hELR

tE 453-2 DEH T
(+H8H) F454-1 = 4541 HMBELE

tE 454-3 DEHTE
(+ BHT) FH454-2 5 454-2 hELR
(+B8H7) F455-1 5 (454-2) BEME
(+ BHT) FH455-2 5 455-2 hELR
(+B8H7) 456 tE 456-1 HWBELER

rE 456-2 NEME




[BFFERRR(H: KFEL]

SFERTHE (1H) HE®RME (F) k=

(+H8H) H457-1 tE 4571 HMBELR

rE 457-3 NEME
(+B8H7) FH457-2 = 457-2 HBELE
(+ BHT) H 458 5 458 hELER
(+ BHT) F459-1 = 4591 ELER
(+ BHHT) FH459-2 = 459-2 hELE
(+ BHT) H459-3 = 459-3 HMBELE
(+BH71) F459-4 = (459-3) BEME
(+ BHT) H459-5 5 (459-3) BEME
(+BH71) H460-1 = (459-3) BEME
(+ BHT) H460-2 = 460-2 HMBELE
(+ BHHT) FH460-3 = 460-3 hELE
(+ BHT) H460-4 5 (459-1) BEME
(+ BHHT) FH460-5 = 460-5 hELE
(+ BHT) H460-6 5 (459-1) BEME
(+BH71) F460-7 = (459-2) BEhE
(+HHT) F460-8 g 460-8 hELER
(+BH71) FH460-9 5 (460-3) BEhE
(+ BHT) F460-10 5 (575-1) BEME
(+B8H7) F461-1 = 461-1 hEEE
(+ BHT) FH461-2 5 (460-3) BEME
(+BH7) H461-3 5 (459-3) BEhE
(+B8H7) H461-F = (460-5) BEME
(+B8H7) F462-1 = 462-1 hEEE
(+HHT) FH462-2 g 462-2 hELER
(+HHr) F462-3 = 462-3 HMBELR
(+ EHT) H463-1 5 (458) BEME
(+HHr) F463-2 g 463-2 HMBELER
(+B8H7) F464 tE 464 hBELE
(+HHr) F465 = 465 HBELEE
(+H8HT) FH466-1 5 466-1 hELER
(+HHr) F466-2 g 466-2 HMBELER
(+8HT) H467-1 e 4671 hELER

tE 467-3 NEME
(+ EHT) H467-2 = (462-2) BEME
(+H8Hr) H468 e 468-1 HhBELEE

= 468-2 PDEMTE

5 468-3 DEH T
(+ BHT) H 469 5 469 hELR
(+HH) F470 = 470 HBELEE
(+B8H71) H471-1 5 (470) BEME
(+B8H7) F471-2 5 (470) BEME
(+ BHT) H472 5 472 hELR
(+HH) F473 = 473 HBELEE
(+ BHT) H474 5 474 hELR
(+HHT) H475-1 g 475-1 hBELEE
(+B8H71) F475-2 5 (473) BEME
(+B8H7) 4761 = (473) BEME
(+BH7) F476-2 5 (475-1) BEME
(+B8H7) FH476-3 5 (475-1) BEME




[BFFERRR(H: KFEL]

FERIHE (1) HE®RME (F) k=
(+B8H7) H477 = 477 ELE
(+BH7) F478 5 (477) BEME
(+B8H7) FH479 = 479 HBELE
(+BH7) F480-1 5 (477) BEME
(+ BHT) H-480-2 = 480-2 HMBELE
(+ BHHT) F480-3 = 480-3 hELE
(+ BHT) H480-4 = 480-4 HMBELE
(+ BHHT) FH481-1 = 481-1 hELE
(+ BHT) F481-2 = 481-2 HMBELE
(+ BHHT) FH481-3 = 481-3 hELE
(+ BHT) F482-1 = 4821 ELER
(+ BHHT) FH482-2 = 482-2 hELE
(+ BHT) F483-1 = 483-1 hELER
(+ BHHT) F483-2 = 483-2 hELE
(+ BHT) H483-3 = 483-3 HMBELE
(+HHr) F483-4 g 483-4 HMBELER
(+HHT) F483-5 g 483-5 hELER
(+BH71) FH483-F = (473) BEhE
(+HHT) F 4841 g 484-1 hELER
(+BH7) F484-2 = (473) BEhE
(+ BHT) F484-3 5 (473) BEME
(+HHr) F485-1 g 485-1 HMBELR
(+HHT) F485-2 g 485-2 hELER
(+HHr) F486-1 g 486-1 HMBELR
(+HHT) F486-2 g 486-2 hELER
(+HHr) F486-3 = 486-3 HMBELR
(+H8HT) F486-4 5 486-4 hELER
(+HHr) F487 = 487 HMBELER
(+H8HT) F488-1 B 488-1 hELTE
(+HHr) F488-2 g 488-2 HMBELER
(+H8HT) F488-3 B 488-3 hELTE
(+HHr) F489-1 g 489-1 HMBELER
(+H8HT) F489-2 B 489-2 hELTE
(+B8H7) F490-1 5 (489-1) BEhE
(+H8HT) F490-2 B 490-2 hELTE
(+B8H7) FH490-3 5 (489-1) BEhE
(+H8HT) F490-4 5 490-4 hELER
(+HH) F491 = 491 HMBELR
(+B8H71) FH492-1 5 (489-1) BEME
(+HH) F492-2 = 492-2 HMBELER
(+ BHT) F492-3 5 492-3 hELR
(+HH) F492-4 = 492-4 HMBELER
(+HHr) FH493-1 E=] 1493-1 HMBELE
(+B8H7) F494-1 =] (1493-1) BEME
(+HHr) F495 =] 1495 HMBELE
(+HH) F496 =] 1496 HBELEE
(+HHr) F497 =] 1497 HMBELE
(+HH) F498 =] 1498 HBELEE
(+ BHT) FH499 5 499 hELER




[BFFERRR(H: KFEL]

FERIHE (1) HEZRE () k=

(+ BH) F#500 e 500-1 ELE

tE 500-2 SNEHTE
(+B8Hr) H501 =" 501-1 MBELEHE

tE 501-2 SEHE
(+HHT) H502 B 502-1 MELEEH

tE 502-2 SEHE

rtE 502-3 HEMTE
(+HHr) F503 = HETRTH 503 HMBELER
(+ BHT) H504-1 SHEIATH (503) BEME
(+ BHHT) H504-2 = 504-2 hELE
(+ BHT) H504-3 5 (504-2) BEME
(+BH71) F504-4 = HEIRTH (503) BEME
(+ BHT) F505-1 = 505-1 hELER
(+BH71) F505-2 = (504-2) BEME
(+HHT) H506-1 B 5061 hWELEE

= 506-3 NEME
(+HHT) FH506-2 = 506-2 MhELE
(+HHr) H507-1 = HETRTH 507-1 HMBELR
(+HHT) H507-2 = 507-2 hELE
(+HHr) F507-3 = 507-3 HMBELR
(+B8H7) H507-4 = HETARTH 507-4 HMBELE
(+HHr) H507-5 = HETRTH 507-5 HMBELR
(+ BHT) F508-1 SHEIATH (507-1) BEME
(+BH7) F509 S HEIARTH (507-1) BEhE
(+B8H7) H510-1 = HETARTH 510-1 HMBELE
(+BH7) H510-3 S HEIARTH (507-1) BEhE
(+B8H7) H514-2 =HBTATH 514-2 hBELE
(+B8H71) H515 SHEIARTH (514-2) BEhE
(+ BHT) H516-1 = HETARTH (514-2) BEME
(+B8H71) H516-2 SHEIARTH (514-2) BEhE
(+ BHT) H517 = HETARTH (514-2) BEME
(+B8H71) H518 SHEIARTH (514-2) BEhE
(+ BHT) F519 = HETARTH (514-2) BEME
(+B8H7) F520-1 SHEIARTH (514-2) BEhE
(+ EHT) F520-2 = HETARTH (514-2) BEME
(+HHr) F520-3 = HETARTH 520-3 HBELEE
(+B8H7) H520-4 =HBTATH 520-4 hBELE
(+B8H7) H521-1 SHEIARTH (514-2) BEME
(+HHr) H521-2 = HETARTH 521-2 HMBELE
(+B8H7) H521-3 SHEIARTH (520-4) BEME
(+HHr) H522 = HETARTH 522 HMBELE
(+B8H7) F523 SHEIARTH (522) BEME
(+B8H71) F524-1 = HEIARTH (522) BEME
(+HH) H524-2 =] 1524-2 HMBELER
(+HHr) H525-1 = HETARTH 525-1 HMBELE
(+HH) F525-2 =] 1525-2 HMBELER
(+B8H71) F526-1 = HEIARTH (525-1) BEME
(+B8H7) H526-2 =] (1525-2) BEME
(+BH7) H527 = HEIARTH (525-1) BEME
(+B8H7) F528 SHEIARTH (525-1) BEME




[BFFERRR(H: KFEL]

FERIHE (1) HE®RME (F) k=
(+B8H7) F529-1 SHEIATH (525-1) BEME
(+BH7) F529-2 = HEIARTH (525-1) BEME
(+B8H7) F530-2 SHEIATH 530-2 HBELE
(+BH7) H531 = HEIARTH (510-1) BEME
(+ BHT) H534 SHEIATH 534 HMBELE
(+BH71) F535 = HEIRTH (534) BEME
(+ BHT) H536 SHEIATH (534) BEME
(+BH71) F550-1 = HEIRTH (510-1) BEME
(+ BHT) F550-3 SHEIATH 550-3 HMBELE
(+BH71) F550-4 = HEIRTH (550-3) BEME
(+ BHT) H553-2 SHEIATH (41-1) BEME
(+HHr) H553-3 = HETRTH 553-5 HMBELER
(+ BHT) F554-3 SHEIATH (553-3) BEME
(+B8H7) H555-2 5 555-2 HhELE
(+ BHT) H557-2 = 557-2 HMBELE
(+HHr) H557-3 = 557-3 HMBELER
(+HHT) H557-4 g 557-4 hELER
(+HHr) H557-5 = 557-5 HMBELR
(+HHT) H557-6 = 557-6 hELE
(+HHr) H557-7 = 557-7 HMBELR
(+HHT) H557-8 = 557-8 hELE
(+HHr) F558-2 g 558-2 HMBELR
(+ BHT) H-558-3 5 (557-3) BEME
(+BH7) H559-1 = (558-2) BEhE
(+ BHT) H559-3 5 (557-3) BEME
(+HHr) H559-4 g 559-4 HMBELR
(+ EHT) H560-1 5 (559-4) BEME
(+HHr) H561-1 = 561-1 HMBELER
(+ BHT) H561-2 = (557-3) BEME
(+HHr) H562-1 = 5621 HMBELER
(+BHT) H562-2 = 562-2 hBELEE
(+B8H71) H562-3 5 (557-3) BEhE
(+ BHT) H562-4 5 (562-1) BEME
(+B8H7) H562-5 5 (562-1) BEhE
(+ EHT) F563-1 = (562-1) BEME
(+B8H7) H563-2 5 (557-3) BEhE
(+H8HT) H564 5 564 hELER
(+HH) H564-F = 5641 HMBELR
(+B8H71) F565 5 (575-1) BEME
(+HH) H566 (+HHT) RE7EH
(+B8H71) H567 5 (575-1) BEME
(+B8H7) F568 5 (575-1) BEME
(+B8H71) F569 5 (575-1) BEME
(+H8HT) H571-2 L5 571-2 hBELEE
(+B8H71) H571-3 5 (575-1) BEME
(+B8H7) H571-4 5 (575-1) BEME
(+B8H71) H571-5 5 (575-1) BEME
(+HHT) H574-2 L5 574-2 hBELEE
(+ BHT) H574-3 5 574-3 hELER
(+B8H7) H575-1 = 575-1 HELE




[BFFERRR(H: KFEL]

FERIHE (1) HE®RME (F) k=
(+B8H7) H575-2 = 575-2 HBELE
(+B8H7) H575-3 5 575-3 HhELE
(+B8H7) H575-4 5 (575-1) BEME
(+BH7) H575-5 5 (575-1) BEME
(+ BHT) H575-6 5 (575-1) BEME
(+B8H7) H576-1 = (575-3) BEME
(+ BHT) H576-2 = 576-2 HMBELE
(+B8H7) H576-3 5 576-3 HhELE
(+ BHT) H576-4 5 (575-1) BEME
(+BH71) 5771 = (579-1) BEME
(+ BHT) H577-2 5 (576-2) BEME
(+BH71) H577-3 = (576-3) BEME
(+ BHT) H577-4 5 (575-3) BEME
(+BH71) H577-5 = (575-2) BEME
(+ BHT) 5781 = 578-1 hELER
(+BH71) F578-2 = (578-1) BEhE
(+ BHT) H578-3 5 (578-1) BEME
(+BH71) H578-4 = (578-1) BEhE
(+ BHT) H578-5 5 (578-1) BEME
(+BH7) H578-6 5 (578-1) BEhE
(+HHT) H579-1 = 579-1 hELE
(+BH7) H579-2 = (576-2) BEhE
(+ BHT) H579-3 5 (576-3) BEME
(+BH7) H580-1 = (579-1) BEhE
(+ BHT) H-580-2 5 (576-2) BEME
(+BH7) H580-3 5 (576-3) BEhE
(+HHT) F-581 tE 581 HMBELE
(+B8H71) F582 5 (581) BEhE
(+BHT) H583-1 = 583-1 hEBELE
(+HHr) F583-6 = 583-6 HBELEE
(+BHT) H583-7 = 583-7 hBELEE
(+HHr) F583-8 = 583-8 HBELEE
(+ BHT) F-584-2 5 (583-6) BEME
(+B8H7) F584-4 5 (583-8) BEhE
(+ EHT) F586-4 5 (583-6) BEME
(+B8H7) H586-6 5 (583-8) BEhE
(+ EHT) H586-7 = (583-8) BEME
(+B8H7) F586-8 5 (583-8) BEME
(+B8H71) F586-9 5 (583-8) BEME
(+ EHH) F587 5 (583-6) BEME
(+B8H7) H588-2 5 588-2 hELE
(+HH) F588-3 = 588-3 HBELEE
(+ BHT) F588-4 5 588-4 hELR
(+HH) F588-5 = 588-5 HBELEE
(+B8H71) F590-2 5 (583-8) BEME
(+B8H7) FH592-2 5 (583-6) BEME
(+B8H71) F592-3 5 (583-8) BEME
(+HH) F595-2 g 595-2 HWBELER
(+BH7) H595-3 5 (583-6) BEME
(+B8H7) F595-4 5 (583-8) BEME




[BFFERRR(H: KFEL]

SFERTHE (1H) HE®RME (F) k=

(+B8H7) FH595-5 5 (583-7) BEME
(+B8H7) H596-1 5 5961 HhELE
(+B8H7) FH596-9 5 (583-6) BEME
(+BH7) F596-10 5 (583-7) BEME
(+HHT) H596-11 g 596-11 MhBELEE
(+BH71) H596-12 = (583-6) BEME
(+ BHT) F596-16 = 596-16 HMBELE
(+ BHT) 59617 = 59617 hELE
(+ BHT) F596-18 = 596-18 HMBELE
(+ EHT) F596-19 = 596-19 hELE
(+ BHT) F596-20 = 596-20 HMBELE
(+ BHT) F596-21 = 596-21 hELE
(+ BHT) H597-1 SHEIATH 597-1 hELER
(+BH71) F597-4 = HEIRTH (597-1) BEME
(+ BHT) H597-5 SHEIATH (597-1) BEME
(+BH71) H597-6 S HEIATH (597-1) BEhE
(+ BHT) H597-7 5 (583-6) BEME
(+BH71) H597-9 5 (583-7) BEhE
(+ BHT) F597-10 SHEIATH (597-1) BEME
(+BH7) H598-1 S HEIARTH (597-1) BEhE
(+HHT) F598-2 SHEARTH 598-2 hELER

= HETRTH 598-3 NEME
(+ BHT) F599-1 SHEIATH (597-1) BEME
(+BH7) F600-2 S HEIARTH (597-1) BEhE
(+ BHT) F600-3 SHEIATH (597-1) BEME
(+BH7) F600-7 = (583-6) BEhE
(+ EHT) F600-8 = (583-6) BEME
(+B8H71) FH600-9 SHEIARTH (597-1) BEhE
(+ BHT) F600-11 5 (596-11) BEME
(+B8H71) F600-12 5 (583-7) BEhE
(+ BHT) F600-13 5 (583-7) BEME
(+B8H71) F600-14 5 (583-7) BEhE
(+ BHT) F600-15 = HETARTH (598-2) BEME
(+B8H7) F602-2 5 (596-11) BEhE
(+ EHT) F603-4 5 (583-6) BEME
(+B8H7) H603-5 5 (596-11) BEhE
(+B8H7) FH604-1 =HBTATH 6041 hBELE
(+B8H7) F604-8 SHEIARTH (604-1) BEME
(+B8H71) F604-9 = HEIARTH (604-1) BEME
(+HH) F604-10 = HETARTH 604-10 HBELEE
(+B8H71) F605-2 = HEIARTH (604-10) BEME
(+HH) F-606-2 = HETARTH (604-10) BEME
(+B8H71) F607-1 = HEIARTH (604-1) BEME
(+B8H7) F607-2 SHEIARTH (510-1) BEME
(+HHr) H607-3 = HETARTH 607-3 HMBELE
(+HH) F607-4 = HETARTH 607-4 HMBELER
(+B8H71) F607-6 = HEIARTH (604-1) BEME
(+B8H7) FH607-7 SHEIARTH (607-4) BEME
(+BH7) F609-1 = HEIARTH (604-1) BEME
(+B8H7) F609-2 SHEIARTH 609-2 HBELE




[BFFERRR(H: KFEL]

FERIHE (1) HE®RME (F) k=
(+B8H7) F609-8 SHEIATH (604-1) BEME
(+BH7) F609-9 = HEIARTH (604-1) BEME
(+B8H7) FH634-2 = 634-2 HBELE
(+B8H7) H634-3 5 634-3 HhELE
(+ BHT) H656-3 = 656-3 HMBELE
(+BH71) H656-4 = (656-3) BEME
(+ BHT) H656-5 = 656-5 HMBELE
(+BH71) H656-6 = (656-5) BEME
(+ BHT) H657-2 5 (656-3) BEME
(+BH71) H657-3 = (656-5) BEME
(+ BHT) H658-2 5 (656-3) BEME
(+BH71) H658-3 5 (656-5) BEME




